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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten. €Ml SlEURL Ulctoll wellol WU 14
Explain Revoke statement in DCL commands.
SIR{lAA sHis Ui Rcls Rere Al

Explain Exclusive locks.

Assoflal AlsU AU

Explain Deadlock Avoidance.

SSCAls AABSU AUl

What is a view? Explain purpose of views.

) 9 B? ] oll &g UMl

Write advantages of PL/SQL.

A /AU AA ol $lAEL AV

Explain User Defined Exception.

YRR Slsl8es AsAelol UMsLAl.

What is Trigger? List its uses.

(3012 9 ®? Aotl Gualolell A€l cAul.

Explain Atomicity.

AHRAEL Auostal.

Explain COMMIT statement.

siNe ReHe Al

What is Exception? List named exceptions in PL/SQL.
WALt 9 87 R /AUAA HL A5AWLet ofl aLEl 1.

Explain Public synonym. 03
ulds lelloll A AL 03

OR
Write advantages of packages. 03

kU oll $LAEL AL 03

Explain Dynamic cursor. 03

staell@s sAR UL 03
OR
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Explain store procedure.
RR UIR{RR Al
Explain types of view.
] all YUsl AMxial.

OR
Explain Lost update problem in concurrency.

Slotsel HL Alre AUde WoeAH yHostal.
Explain Database administrator security and its privileges.

321 AsHlo(lRgeR Alsy3lEl wal Aotl s UMl

OR
Explain index types.

Bodel oll UslR AHostall.

Differentiate Row level trigger and Statement level trigger.
A Add R el weHe Add 2R oll dslad AHdl

OR
Write PL/SQL program to find area of a circle.

adn ol A3 Weuct 1 YRAA/AUYRAC HU YUH AW,

Explain Two-phase locking.
2-%52% cAlslol UHal.

OR
Write a program to find maximum out of three numbers.

AR oloR HL Yl AR ololR ual M2 of YloUH Al
Explain Time-stamp method for concurrency control.
Slotsel $2lct HIZ 2l8H- U RS UMl

OR
What is Transaction Throughput? Explain it.

2l0ls2let elye 9 B? A Al
Explain Response Time and Space Utilization.
R0 2leH Ul AU YZlAlsB2tet AHA.

OR
Explain static cursor.

R3ls s Al

Describe Types of Oracle Database Users.
WRSEA 2L YAHR oll YslR AHcl.

OR
Write step to create package in PL/SQL.

YA /AusAA HL WF9U Glollelall HIZ ol UDLAL AU,
Write advantages of indexing.
803 (8oL ol SlAEL AV,

OR
What is Concurrency? Explain Dirty read problem.

Slotsol 9 87 S8l <ls WedAH UHe Al

Explain transaction states in detail.
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2lodslel 22U (Aol HL YHostl.

Explain Logical Database Design.
ADsc 321 [(Baieet UMl
What is use of Database triggers?
321 (2o1R ol GualloL 9 B?

Explain Sequential control in PL/SQL.

A /AusgRd Hl RsARud s2lc aHestal.

Describe Tasks of a Database Administrator.

sela AsHlo(lrge ol staAl auldl
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